#include<iostream.h>

main()

{


double dohod,nalog,stavka,OblDohod;


stavka=0.13;


int deti;


int VidRabot;


         cout<<"SummaDohoda=";


         cin>>dohod;

             if (dohod<20000)




 { 


 

             cout<<"Vvedite 1 esli sotrudnik postoyanniy,esli net - 2\n";




 cin>>VidRabot;




 }

else

{

 

             nalog=dohod*stavka;




 cout<<"NDFL=";


         cout<<nalog;  




 return(0);

}




 if (VidRabot=1)




 {
 



     cout<<"KolichestvoDetei=";




 cin>>deti;




 }




 else




 {

             nalog=dohod*stavka;




 cout<<"NDFL=";


         cout<<nalog;  




return(0);




 }



     if (deti>0)




 {

             OblDohod=dohod-400-300*deti;




 }

             else




 {

             nalog=(dohod-400)*stavka;




 cout<<"NDFL=";


         cout<<nalog;




 return(0);




 }




 if (OblDohod<0)




 {


         cout<<"NDFL=0";




 }


         else




 {

             nalog=OblDohod*stavka;

             cout<<"NDFL=";


         cout<<nalog;




 }


         cin>>dohod;


return(0);

}
